March 4, 2020

Warm Up:

1. Find the slope of a line that passes through the points (6 8
p passeg throug .p_q((@
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2. Write an equation for

the line to the right
Y=Mmx b
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Line of Best Fit
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Life Expectancy By Year of Birth

Line of best fit
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1 The following table has height M elownE V&WQ\J\\L\'\-
in inches and weight ~
Height Weight '1 S

10 15 1o
¥ 12 2 ag //

14 24 .//

15 24 20 4

15 28 Do y,

17 32 N o

18 31 g 20 (»

19 33

15 A
/
_ , |0 /

Label the x axis for height and J/
Y axis (go by 5's) for weight. Plot points S r

Draw line of best fit
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Using the Equations to make predictions:
- Estimate with how much someone would weigh if their height is 25.
Y=1x-3 G x
Y-2(29)-3
50 -3
b= 47
-Estimate how tall someone would be if their weight is 37.
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37 Zx%
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2 Tree Age and Height (in feet) 1On w o ” vS. He: ﬂh*r
X y
1 2 q
1 3 % ° »
2 4
3 6 2
3 8 b ) -
4 6
5 8 g S
s 10 ¥ *
Label the x axis for age and y axis for U +
height. Plot points. Draw line of best fit. \
Equation 4
Tre 4%
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